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uestion 1
Q@()Bob does 90™Mm©gds 30HB03MO LoEOIL, MHMIJOoE HOELMOIMOZIP BHMEOS
----- 39300 J9dGHOMO0L M5MmgbMmdOL.
Select one:
a. G0l w5630
b. 259¢5M0l 35603339030
C. MHMoL gMmMgMedo gsdEHscmol 35603339030
d. §69godo
Question 2

3990560305 0079 93900 99dGOMITMAMS3909e0 o MOEbMIMO350
»6OOL 08 39domdIl, Mdgwlsg SLM¥Egdgb ot dsergdo dg36rmem

306330 90993560 IGO0 FMbEHOL oI5 YOEGOOL OMU.
Select one:
True

False

Question 3

999dAHOMEH 9603580 ©9gbol mBsmdol (969GMa00lL) gMmgMms© FowgdwEOos
30@M353LSMO (33GLmM). 1 33D GHMEos:

Select one:

2. 3,6-10°
b.3,6-10°
c.3:6y
d.3,6-10%
Question 4

53O gM 2obdoMBHI0s: 1 3mwmbo 5oL FMbEHoL ol MoMmEabmds, GMdgwros
390L 259F 560l gobo3339030 ----- .

Select one:

a. 96 o080 2 533900 6ol OML

~
b. g6» §sd80 ghmo 533900 ©Ibol EMML

C. 9060 533960 ©9bols O™l


http://testing.gtu.ge/filter/tex/displaytex.php?texexp=3%2C6%5Ccdot10%5E9
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=3%2C6%5Ccdot10%5E6
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=3%2C6
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=3%2C6%5Ccdot10%5E3
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Question 5

35360@MM0 390b FysOmMU FomBmoagbl (8mbodbgm 3 3sLvmbo):
Select one or more:

a. ©9bosbo s9@sm0o

b. 929ddOmbEHGe3IO0 oo

C. #3630 BIbGO

d. 8md6s30 Bgb@o

€. 33O JIJOOIo 3geo

Question 6
353b60@M0 390l J0dsMrNMEgdol oblsbLzmol dobbom 39wdo gz
(8:b603bgo 2 3sLybo):

Select one or more:

a. Lbsbobyxo dnbEo

b. @sdbE o Baforszo
C. 1996530 IMbGHOo

d. 960560 BsOBM

€. 35360@1Mmo obsMo

Question 7

397150599 9OMAsbgOL BoBOIMM LOWOWYJOO WS JMIMYMYYdO:

0630 Hmds L Answer 1| Choose... j
Bsp60¢ G0 0bwdzos B Answer 2| Choose...  +|

35360 MO0 653500 ¢ Answer 3| Choose...  +|

Question 8

(3350 ©g60lL §6H900 G9db03mMo Lobdomg ¥ = HU 3goHalL. Mol
Mol W {OHomwo LobdoMy:

Select one:

a. 314 396g0

b. 200 396g0

c. 300 396go

d. 250 396g0


http://testing.gtu.ge/filter/tex/displaytex.php?texexp=L
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=B
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=%5Cphi
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=%5Cnu%3D50
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=%5Comega
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Question 9

QLM 2obTsM3Gds:
(330 960 9fmEgds gbl, MOl
Select one:

a. LOEOY s F0TSOMIENYOS 56 O33EYOS
b. dbmem 30356GMMEgds 03390

C. LOEOY S J0BsMIMIEYdS 3JMHOMPYICVHP OGF3WJOS

d. 3bmemo OO OE3EHdS

Question 10
Q3LOMEg 2oboMEgds:

LEMEo 3ogbo@Mo MGG FoMBMo9bL s@MTdo F93s35¢0 g39es

9w9dGHembols ----- .

Select one:

a. dbmemE MOO0EIMOHO Imdg6EJd0L 4gmdgEHMmowe xodl

b. dbmewm 306G BsaboEMMo 3mdghEHJOOL 3gmIgEH®OME XL

C. mM00GOHO s doeols dmdgbEgdol agmdg@®mome xsdls

d. m®d0GHMOHO s L30EYMO FoaboEmEo dmIg6EGOOL 4gmdgEGowm Kxsdl

Question 11

90994 GHMH™sabo@memo Mbg3zgdo doowgds ---

Select one:

a. m39960 Hobowmdols

b. 06wd30mH@dOL 3mFol
C. 30B9BLsGMAL

d. ®bggomo 3mbEw@ols

Question 12
Mb93000 3mbEMOO F9a9ds:

Select one:

a. dbmemo 060MJ30OH™mdOL 30 Folash

b. dbmem© 3mbgbLSEMOOLY

C. 3mbgbls@M®moLs s 0bMdEommM™MdOL 3mFoliash
d. dbmemo m3N©Ho Fobowmdolysd

Question 13

1589)5¢9gd0.

239MGHIHOL 5dLBMEMEMMO F9B3969090 2306396901 :
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Select one:

a. ®390gbx9gM d9@05 LobsMEIOL go3ME3ggdol Lobds®g ImEgdne gomgdmdo Lobsmeols
24930390900l LobdsMgbg 35349330

b. ®3809bx9® 65309805 LOBIMEOL F93MEgEgdoL LoRJsMg dmEydME 25M9dmBo Lobsmeol
24930390900l LobdsMgbg 35329330

C. LobsMOL Fog3MEIgdoL LoBJsMgl 353499ddo
d. LoBsmEob 230 EgEgdOL J0TSOHMMEGN dmEIdME 3sMgdmdo

Question 14

35MH0HY00 3O gdol HBggdoLsls Joowgds 0bdgMHngM9bEovIero
L5000, 0399 GHOWMIOO 3MWHMH0DYdIMWOs -----

Select one:

a. 96» LodGMEYgdo

b. M6H09H»oHMMd LodMEHYHd30o

C. bbgoslibgs LodmEyggddo

d. LodMEGHYY9ddo, GMIYdOE J86056 JOMIEYNMSE 45% —056 3mobgls

Question 15

Lobsmergls, GMIOL gergdE©OHmwo 39dGHmmoL Mbgzol LodOEYg

39000930003, Mfgb®oym© 033wYdS s ST OGHIQIOO Y390d
9098560 gd0m GHM0s, 9hmgds ----- Lobsomeng.

Select one:

a. 65fomd®m03 3msmobgdwo
b. 316906030

C. 3msMH0HYdMo

d. 630350 3ms®0HgdYo

Question 16
969600l 7I306M9L 3OE0L, MHMIGELSE FodMIlboggdL 56 Bmsbmdogl s@mdo,

9hmgdgb:
Select one:

a. 30M37913900ls
b. 3356

C. 33503l

d. 5¢mdL


http://testing.gtu.ge/filter/tex/displaytex.php?texexp=45%5E%5Ccirc
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Question 17
399955058900 BoH03MMO LOWOWYJIOO s LOTDdMEMYOO GMHNTSbgOLs :

M Answer 1| Choose... M

I Answer 2| Choose... -

S Answer 3| Choose... |

" Answer 4| Choose- M

Question 18

B0GMIIJHHMBd0L bafigobo 3069@0360 9bgeRos Bom 8gHos, o3 ===+ ©>

56 560l ©s3M3000)0I0 (3900 BObsMEOL 0b3GbLOZ3MdIBY.
Select one:

a. 39305 Lobsmwol Gswmol Loa®mdg

b. 6539000 Lobsmeol 9bgMyos

C. 65309005 Lobsmerols Lobdotyg

d. 39305 LobsME ol LobJody

Question 19
QLMW b3 FHGds: 3OOl MMdOEJO0 HotmBdmoa9bgb 0d HoMEowms

3903930 50 gdl, BosE 9gdBO™boL 5BmMBIBOL sEdsMMds ----- .

Select one:

a. 760l MlsbEmmadl (20)

b. »mowgbos

C. BH™MEos byyarols

d. «9306M9L0s5

Question 20

6o 96 250m0YygbgdmMms MH9HIORMMPOOL (305307
Select one:

a. mgoob 300

b. ®5005J&H0vM0 god3mlboggdol Fyserm

C. 0bMgonGmdol 3m}s

d. B5er38069b39B3009d9w0 936560

Question 21

Logzm®EOL dM(39ME SEHOOL, dm39de dmdgbEdo bofowszol s0dmBybols
3EBSMMBsMS Q5b5Hogds bollosmgds ----- :

Select one:


http://testing.gtu.ge/filter/tex/displaytex.php?texexp=m
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=l
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=S
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=n
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=%5Cinfty
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a. 958396900560 Bbds00m
b. §6g5030 gMbjz00m

C. (oMo 13bjzoom

d. @masGomInwo gwbdzoom

Question 22

#3999909090005 9egdBHO™bol 3mmOH0bsEH0L s 0339)lol GOHMOOMMES®
SOLMEYEHI BMLEO oBMAZS . b BMOIMPOMmYdS 6MDOOS, MMAMOS:

Select one:

a. 35990l 3Mobiodo

b. @y d3Gmool 303mmgbs

C. 35019608960l 256BO3MgMdsms 30063030
d. dmeol 3mbErmsdo

Question 23

3sLol LM ©g5399dBHOL Lsdswgdom d3ol AL 9bgmaools gedmbsomgange
RMOHINsL 593L Lobg:

Select one:

a. AE = m?Ac
0. DB =T

. AF =EAm
d. AE = Ame?
Question 24

ddodg 3060 ™3900L 259mxz0l s AbYdMJo doMmM3900L F99Mmgdols M9od309d0:
Select one:

a. 563 93bMMININWOos ©d ¥OE JHEMMYOIYEwo

b. 8993935000

C. PBM)HIN@Os

d. gabmmyGIm@os

Question 25
mdols 356mbols Lbgoolibgs Lsbom fomdmygbog mMIMwqdls d9mbodsdgom

LobgHmgdgdo:

I
JT - —‘:-., Answer 1| Choose... j
J =

£
7 Answer 2/ 0oose- -l


http://testing.gtu.ge/filter/tex/displaytex.php?texexp=%7B%5Ctriangle%7Dm
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=%7B%5Ctriangle%7DE
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=%7B%5Ctriangle%7DE%3Dm%5E2%7B%5Ctriangle%7Dc
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=%7B%5Ctriangle%7DE%3D%5Cfrac%7B%7B%5Ctriangle%7Dm%7D%7Bc%5E2%7D
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=%7B%5Ctriangle%7DE%3Dc%5E3%7B%5Ctriangle%7Dm
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=%7B%5Ctriangle%7DE%3D%7B%5Ctriangle%7Dmc%5E2
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=I%3D%5Cfrac%7BU%7D%7BR%7D
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=I%3D%5Cfrac%7B%5Cepsilon%7D%7BR%2Br%7D

J=0L pnswer 3| Choose... B

Question 26
390 GmOHINEom 353mobobgds Lobsmrol LoBJsMg as®9gdmdo (¢ SGOL
Lobomol Lobds®g 3o3w9ddo):

Select one:

Efd
a. «
1

b. Ve

c

© e Ve
4 CVEM

Question 27
Mol MEOOL 9HI6gMsb J0dEI3™™dO® Fg9Mmgdo 2

3MbabLOEHMMOLYSD 9ygbowo {Mgwol gegdBHOMm@GH935Mds, v

0000Mg20ol §e9dGHOMGHI350Mds gLodsdols® Gmeos: 6 ©s 7. ( 39edo
Bofig®gom dbmermo Gogbgo dglgol LobMbEHom, dsy: 1.23)

Answer:|

Question 28

599X 9O 2o0BOEIds dogbo@e 39cwdo dMbEBg dmddgo dsews, 0¥y
399bE0L LOWOEY FIOBOHEIBS 8-x9M, bmerm dobo LoBds@g 30 10-x96. (
39380 Bsfigmgom dbmenm Mogbgo, doy; 12.0)

Answer:|

Question 29

03m390 3MmFsl 3oaboEMMo 39e0l gbgMyns, 0¥y 3mFsl 0bdzom®mds 0.2
3966005, beagwm 3mFsdo 58535¢00 ©gbo 105839M0. (39edo RsfgBgo dbmem
Gogbgo, Aoy 1.23).

Answer:|

Question 30

MO0 25609dMb 459Yma3 HBgs30ML 9;39ds Lobsmeol Lbogo. goms@gbols 37mby
5oL 30 3M50MLO, 25MEEHIHOL BsMEMdomo 3583969090 Fgmeg doMgdmbio
306M39e0L 3035O® 560L 1.3. 256LsbO3Mgm ©s3E7d0L 3Mmbol Lobmbo (39¢do
Bofig®gom dbmermo Mogbgo, doy. 1,234).

Answer:|


http://testing.gtu.ge/filter/tex/displaytex.php?texexp=%5Cvec%20j%3D%5Csigma%20%5Cvec%20E
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=c
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=%5Cfrac%7B%5Cepsilon%5Cmu%7D%7Bc%7D
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=%5Cfrac%7B1%7D%7B%5Csqrt%7B%5Cepsilon%5Cmu%7D%7D
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=%5Cfrac%7Bc%7D%7B%5Csqrt%7B%5Cepsilon%5Cmu%7D%7D
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=c%5Csqrt%7B%5Cepsilon%5Cmu%7D

Question 31
30E5M0DIGMOOLS s 965¢0DIEHMMOL gMHIgAL FmEOl 3mmbg 180°
305NML05. A9BLIDBPYIMGD 9650 BIEHMEOT0O Aolvo Lobsomerols

0b@9blogmdol (La) 5 3WMH0DsGHMMTo QoL Lobsomerol

{a
0b@9blogmdol (Ip) BoMOMdS e (3980 Bofigmgm Fbmemo Gogbgo, 85y.
1,234).

Answer:l

Question 32

06936030 Lobsmol Y9I EBHMO030L HBYI30M0EB 50933 oLOL LGYICro
3MsMH0Do300L (3M0MLBHIOOL) 3mby BHmeos 30° gMmsmlol. Ml MOl
@099dBHM030L 25MdEgbol 8583969890 (39¢d0 BofigMgo dbmerm
Gosbgo, dsy. 1.234).

Answer:l

Question 33

5090 X Mo 2:1020 gmEmbol 9696my0s, My dobo bLobdoMgs
5:101 3gM30. 3wsb3oL dmdogs h = 6,6:102 %.%3 (3980 BsfigHgm
abmemo Hogbgo 9989a0o Lsbom, dsy. 1,234).

Answer:l


http://testing.gtu.ge/filter/tex/displaytex.php?texexp=%28I_A%29
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=%28I_P%29
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=%5Cfrac%7BI_A%7D%7BI_P%7D

